20124% 204 e SENFRL ~ FAFI

AR NN Iy

Al

—

At & Al A

S MeHAIE 243 2 RAGSZH HE
Sl HAHAIR B2HS ¥ 2SN (crol: 2
- PSHE]
SN - FB-SR(E) - HRAY - BES 0l o i HlRSZ
NN 6,518,461 6,266,176 252,285
= 699,731
= 672,000
Il 226,000
&2 62,444
= 652,045
Al 4,206,241
MehAE sdst & XNSEH eHE 877,821 1,163,356 A285,535
= 326,000
= 755
Al 551,066
MeHAIE 2304 2 2S X2 799,790 1,082,880 A283,090
& 326,000
Al 473,790
MehAl S SAI2Y 80,000 80,000 0
307 e1ztol & 80,000 80,000 0
02 QIZtFAER 80,000 80,000 0
O HSAIZACIIIMEFE 80,000,000& = 14l 80,000
THeHAIE Ald B 75,000 30,000 45,000
401 A& HI L 200YI 75,000 30,000 45,000
01 AI&H] 75,000 30,000 45,000
O MHeHAIE AMEE RIS 5,000,000& » 4042 20,000
O THHAIE ®IIAE ot EH 50,000& * 10072 5,000
O] THeHAIR =828 B 10,000,000& * 5JH A 50,000
THeHAIZ 2 =8 & A0l OtelE #35t 104,790 104,880 A
201 et | 35,540 34,800 740




2N EXS XD
M YNNI BAS L KNHAT O
el THelAlE SHZoe 2 2N (&2 &)
SN ZH . G(B) - HBEAY - BES 0ol arey o HIDS2
01 AtR2t2|Hl 17,300 18,000 AT700
[ Let==EH| 11,500
O 4ZH 28 JHE 100& * 10,0000H 1,000
O MHAE o433 SSFMH 100& * 40,0000H 4,000
O &fel o3Il WIH M 5,0008 * 2005 1,000
O &0l O3tHI0I 28 =2 A 100,000 * 5IH4 500
O THeHAIE 22 Fdt22L HME 4,000& * 1,25004 5,000
0O 2d=¢ 3,800
O &el O30l ZAL =% 150,000 * 8F * 2A[2F 2,400
O HSAE &eJ| Mg =< 70,000& = 109 * 23l 1,400
O edxts 2,000
O &0l OFtOI0l EAX AdEAIE Ast HA Xt 500,000& = 2CH * 12l 1,000
O MeHAIE EHMES HA XL 500,000& = 2CH 1,000
02 3322l 18,240 16,800 1,440
O 32232= 2 HAl 18,240
O MHAE HExEE M= 120,000 * 100H2 * 123 14,400
O 23N stEs B3RS 1,200
SpIE= 50,000& * 12& 600
Aot=ER32 50,000& * 12& 600
O gZANE 8 3323 2,640
rSpIE= 170,000& * 128 2,040
Aot 23 50,000& * 12& 600
202 44l 3,300 3,780 A480
01 =W 3,300 3,780 A480
O A&THeHAIE SR HE 80,000& * 3% = 2 « 33 1,440




SRR

CMEAY 243  XS3H oS
DAY 2EONE & 2EAA (S d )
SA - BH . S(3) - HRANY - BES NG DS
O MWeHAlY & &0t X= 20,0008 * 3& = 31 1,860
301 LEtEa= 46,750 47,100 A350
10 HALAHI2 43 1,750 2,100 A350
O MehAlE gol2tedsl H44 S48 7,000& * 509 350
O WeHAlY SOME 44X 44 7,000& = 1009 700
L) MHeHAIE OFHOIOI E4 X =AM 7,000& * 1009 700
12JIe2d= 45,000 45,000 0
O 43 gols 24 1,500,000,000& * 3% 45,000
403 XSS AH=0ld 19,200 19,200 0
02 I 2SO0 CHECH AL HI 19,200 19,200 0
O THehAlE a3 21| 1202 * 160,0000H 19,200
THeHAIZ BICHEH At 90,000 0 9,000
2 56,000
Al 34,000
401 Al EHIZL S OHYI 90,000 0 90,000
& 56,000
Al 34,000
01 Al&HI 89,200 0 89,200
SEZ A 89,200
O HSAIE SHAIE JHH At 89,200,000& * 14 89,200
& 56,000
Al 33,200
03 Al = UHYI 800 0 800
O ZS2XAY 800
O HSAE AHHAIE JHA At 20 800,000& * 14| 800
2SAY #4ouFsd XA 450,000 0 450,000




A EXARAID

M YNNI BAS L KNHAT O
SR MeHAI Y 2tB0HE & 22 (el Ed)
SA - HB - ER(B) - MRAY - BES 0f & o HI DS
= 270,000
Al 180,000
401 A2 HIZ S O8I 450,000 0 450,000
& 270,000
Al 180,000
01 Al&H] 441,124 0 441,124
O ZEEXAE 441,124
O EsSAE delusa MZIA 441,124,0008 = 14| 441,124
= 270,000
Al 171,124
02 Zeltl 5,700 0 5,700
O ZEE A 5,700
O E=AME HuFa AFIA 5,700,000& * 14| 5,700
03 Al& 20| 3,176 0 3,176
0 ZE2XAY 3,176
O EsSAE delusa AFRIA 3,176,000 = 14| 3,176
PNESE=DIE DAL 70,231 71,276 A1,045
5 755
Al 69,476
AHINES & Sotetd 2 54,590 40,856 13,734
201 ¢Er2dH| 21,390 20,636 754
01 AFR2telH| 21,390 20,636 754
0 8t=ZH 14,940
O atHItES 222 M 10,000& * 1005 1,000
O SISEX M 1,500& » 300% » 123 5,400
O AMRES ¥ 10,0008 = 155 * 102 1,500




A EXARAID
b

B YNNI BAS L KHAT O
ol MM BN (cre) Ml
SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2

O =SAsSX 7Y 20,000 * 80=fA 1,600

O A Z8lHI| =2 2,000

SADI =2 200,000& » 104 * 43 800

Z2lgIl =2l 200,000& * 6CH 1,200

O &8 ¥ W #5 12,000& * 10& » 123 1,440

O AEHREDN ¢ 3/HF R 10,000& * 1008 * 23| 2,000

O 2+ 2,600

O ZHus & AHIALNSE ZAY 150,000& » 2% * 43| 1,200

O SIHHMAR &4 ¢ 70,0003 = 10g » 23l 1,400

[ 2l 3,850

O ZHD2gR =8 =4 7,000& = 59 » 110¢ 3,850
202 44| 4,000 4,860 2860
01 =LHOYI 4,000 4,860 2860

O XL SIetsE HRF 20,000& * 4% » 20 1,600

[ AHIAES HRFA 20,000& = 3% = 40 2,400
206 T2 H| 10,000 0 10,000
01 =4l 10,000 0 10,000

O SoterE g K& 100,000& * 100702~ 10,000
301 LetEAF 19,200 15,360 3,840
10 #HALAHIE A3 19,200 15,360 3,840

O SNHEARF MALsE FA0U 24 20,000& = 10 = 63l 1,200

[ SIIZARE 24 150,000& * 10& » 128 18,000
Sltatel X2 & 28 23 2X 13,124 10,420 2,704
101 Q1244 2,704 0 2,704




AR NN Iy
b

B THHAE BHE U NABH O
Sl XK XA (Erol: =)
= = = PSHE]
SN BB SR(B) - MRAY - BES 0l arey i RS2
04 JI2HH2Z2 RS E+ 2,704 0 2,704
O HEIIZEA BEX o12Y 67,600 * 1H = 40¢ 2,704
201 LEt2 | 3,700 3,700 0
01 AtR2teld] 3,700 3,700 0
[0 Let==E4] 3,400
O &ZHAN &4F 7L 2 M2 10,0002 * 100JHE= * 23 2,000
O fxaE 2E g2 MA 1,000& * 6005 600
O 28 ¥ NEF &3 ==& 100,000& * 8HHE= 800
O A= 300
O AZIIEAN SR A= 300,000& * 13l 300
202 04l 6,720 6,720 0
01 SLHA Y] 6,720 6,720 0
O fxaE gs AN=Ed 80,000& * 2H » 2 « 62l 1,920
[0 SIS RSHS(AZLR) 80,0003 * 3% » 22 * 43| 1,920
O A2 NESHEH(A20F) 80,000& * 3H * 2 63l 2,880
SOI2HS A KA 2,517 20,000 A17,483
5 755
Al 1,762
206 M= 4l 2,517 20,000 A17,483
= 755
Al 1,762
01 TH=4] 2,517 20,000 A17,483
O SHIEXAY 2,517
O Si2dga & 2,517,000& * 14 2,517
& 755
Al 1,762




A

SA=X ot

S WHAY 245 & XS
el J1gEA 24 )
= = PSiE |
CER(BI) - KIRAY - e i 2
s =4 7,800 9,200 21,400
JEEX JIEtAIE4 7,800 9,200 21,400
201 Bt2 3| 6,400 6,400 0
01 AbS2teldl 6,400 6,400 0
0 &et>= 6,400
O &g 1,000,000& * 2IHA&IZ AL * 23] 4,000
O &I 3,000& * 4005 * 28 2,400
301 LetEa= 1,400 2,800 21,400
10 At 24 1,400 2,800 21,400
O &HEX 7,000& = 2009 1,400
IRl 22| & e 526,149 30,160 495,989
= 150,007
= 101,451
Al 274,691
SEH0|0 tEE oL XI2el 163,249 30,160 133,089
=2 110,007
< 8,251
Al 44,991
HiUXe sE8 Sg2c 25,740 30,160 N4,420
201 B2 3| 11,480 8,400 3,080
01 Ab2teldl 7,780 4,700 3,080
0 =S4l 4,400
O |FFAE MH ==8 20,000& * 35042 * 23| 1,400
O 0lUXl 2ef E2= MA 8% 5003 * 4,000% 2,000
O etdze|(OtAa, &J|, A1 &) 822 M 5002  2,000% 1,000




N EXSX
A 22 R O

chelr SEX0| @@@EOHI:IXIEFEI (&t &3
SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2

O A= 300

O JIIAEEERE /A€W 300,000& * 13l 300

[ =&l 3,080

O HUHXEMHRFL S4H| 7,0008 * 4% * 110 3,080
02 S=23Hl 3,700 3,700 0

0 =322 2 HA 3,700

O JtAANE EIIZ2M === 16,000& * 2000H 2~ 3,200

O EASEHEZOY Mz 100,000& * 53] 500
202 O44| 8,560 10,360 A 1,800
01 =LHOIYI 8,560 10,360 A 1,800

O A ZAF & HAEEESRF =0 80,000& * 2F = 22 * 32 960

[ SEHARE YA nIHS oy 80,000& * 2& * 2& = 43 1,280

O JIAEOHE A WE 33 80,000& * 2H » 2 « 43| 1,280

O ATHA ol Rl S o 80,000& * 3% * 3 » 33 2,160

O MEA SMAZ 2t 85 o] 80,000& * 4 = 32 * 33 2,880
206 Th 2| 5,000 5,000 0
01 =4l 5,000 5,000 0

O etdze|8 MERS (SEXEI], =FII) 10,000& » 1009+ * 32l 3,000

O EXE2I7? P (HEI®, 2HE &) 20,0002 = 1004 2,000
301 et A= 700 6,400 A5,700
10 HAtAHIE &= 700 1,400 A700

OOt 2 =/a 2sds I sS4 7,000& = 50 350

O oA 2 2o 4% SANS 7,000& » 50 350
NS IHAANE NS KR AL 137,509 0 137,509

= 110,007




N EXSX
A 22 R O
el 2H0/1] eHME Ol Xl2el (el &3

HEC
g2 }OH A

>~

SN -ZH - HRA(SAH) - HIRA

1%
r
0
2
5
K
Ol
0

H

8,251
19,251

=

403 XXt HSAH=01 & 137,509 0 137,509
110,007

8,251
19,251

= H W

02 SI1 2t SOlCHSHCHH AL H 137,509 0 137,509
O & 137,509
AAEIHE XS AL 199,000& * 6917t 137,509

110,007
8,251
19,251

= H W

AITHAE Ol LA X JHEY 362,900 0 362,900
40,000
93,200

229,700

= HH

AHEHEX ESAHY 80,000 0 80,000

40,000
40,000

= N

401 Al HIZL SO 80,000 0 80,000

40,000
40,000

= A

01 Al&2H] 80,000 0 80,000
O =202 AMd 80,000
O AMHMAHHX XLES A (20HA) 80,000,000& = 14! 80,000

40,000
40,000

= N

B EAXIIANEES A 80,000 0 80,000




A
X ZH -
(=R I

=l

SA= X ot
OIHR 22l ¥ e
AITH Ol X JHE

SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2
3 32,000
Al 48,000
401 A& HIZL 2 0HYI 80,000 80,000
= 32,000
Al 48,000
01 Al&H] 80,000 80,000
[0 SHIEXAE 80,000
O EHYLAHIIANHEES A 80,000,000 * 14l 80,000
= 32,000
Al 48,000
B LED S2E EXIAY 100,900 100,900
401 AIEHIZL 2 OH Y| 100,900 100,900
01 AI&H] 100,000 100,000
[ HASZE EHAZLED EXIALSY 100,000,000& * 14 100,000
03 A& 2 0HHI 900 900
O HASZE EHLZLED EXIAY 100,000,000 * 0.90/100 900
JJelE 1008t EsSAty 102,000 102,000
= 61,200
Al 40,800
401 AIEHIZ2OHbI 102,000 102,000
= 61,200
Al 40,800
01 AI&H] 102,000 102,000
O SHIEXAY 102,000
O JE= 1008ts B A 102,000,000& * 14 102,000
L= 61,200
Al 40,800




A RIS N SN I
i 2ot g SN2 K
=Rl EAURA 2 wEls 8 (et A
= = T PSiE |
SA B SRA(3) - MIRAY - BAS Of & o i DS
29 2 ENRI XA 147,770 117,700 30,070
SNz € Wsis dE 132,770 87,700 45,070
SARX N2 & 85 At 132,770 87,700 45,070
201 LEr2H| 50,400 59,800 29,400
01 At 22l H| 27,400 29,800 A2,400
0 e+=S4l 20,400
O SEXNFXSEHA M= 20,000& = 4005 8,000
O JISH 2t 2K+ M 12,0008 * 7005 8,400
O XNgagd 28I o5 S M 800,000& * 54 4,000
O =g+g 3,150
O SR 4o?d 8L =€ 70,0003 * 9H * 53] 3,180
O =l 3,850
O JIgRXNERFE S4lH| 7,0008 * 5& + 110 3,850
03 A= S| 23,000 30,000 AT,000
O SAU=X €382 A 238] 23,000,000& * 14| 23,000
202 044l 8,640 10,240 21,600
01 = LHOIYI 8,640 10,240 21,600
0 &g & S¥Ee g228 o 80,0003 * 2& * 22 x 53] 1,600
O EXsA 23S0 80,0003 * 4% » 24 = 113 7,040
301 et a=s 11,730 15,660 A3,930
10 HALEHIE &S 3,730 5,660 21,930
O SA01Y SEAM DA SANS 7,0008 = 452 » 23] 630
O S0 HEXN 2Egs 4L SAHS 7,0008 = 100 = 23| 1,400
O X=X g5 2020 odl2d 80,000& = 53 * 23 800




A EXNSXI
HH: 9o ol EXRA A
@R EUsX & Ws)is M CERED
= = = d =
SN B SR(EH) - MRAY - BES 0l by NG RS2
O SUsX dofIgs &I o2y 20,0002 * 9% « 53| 900
12 IIEt243 8,000 10,000 22,000
[ JIERX SI2t0l Za= 4,000,000& » 2Y 8,000
303 L&tz 2,000 2,000 0
01 Z&3 2,000 2,000 0
O JIgRX K3 SRF L&23 1,000,000& * 2 2,000
401 AIEHIZL 2 OHY| 60,000 0 60,000
01 Al&H] 60,000 0 60,000
O 272 J1gstd HEA Y 20,000,000 * 3JHA 60,000
ANEIY ==53U L AIEIHH 15,000 30,000 215,000
= ¥ R9)|8t =4 15,000 30,000 215,000
307 glzto| A 15,000 30,000 A 15,000
05 IZtRIE = 15,000 30,000 A 15,000
O =28z X 3,000,000& * SIS X 15,000
SAMSHE & LREIEE 2,775,883 3,270,197 A494,314
= 549,724
Il 226,000
2 62,444
= 480,339
Al 1,457,376
CAste &2 ¥ Xl EE 2,775,883 3,270,197 AN494,314
= 549,724
Il 226,000
2 62,444
= 480,339
Al 1,457,376
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== =
DEAEE E2 2 29X

D EXSR

aQ

OIX
a

eI &=
|

tel 2= Chel: &= JH>)
SN ZH . G(B) - HBEAY - BES 0ol arey o HIDS2

=22 (01) 663,274 1,097,748 ANA434,474
= 62,444
= 139,613
Al 461,217

101 21244| 649,177 1,080,827 A431,650
= 62,444
= 139,613
Al 447,120

M4 IIZtHZ22XHSEx 649,177 1,080,827 A431,650
O SHIEZTANY 649,177
O S3TZALY 122 (012) 590,000,000& Al 590,000
= 62,444
= 139,613
Al 387,943
O 4= 59,177,000 4 59,177

201 L EH2 | 4,217 10,041 Ab,824

01 At 22|l 4,217 10,041 Ab,824
O SHIEZTAY 4,217
O Lit+=2H| 1,627
NEM HZ 273
28 g2 MH 100,000& * 292 400
MNEES 7Y 12,0008 * 58 300
A2E(Z2HI,EE S) uA 327,000& * 10K 654
O 2d=Y 490
SES2ZAY FHRARS ARG 70,000& * 74 490
O =gl 2,100
SES2ZAE F&A 7,0008 = 2% * 150 2,100




A
X ZH -
(=R I

=l

SA - FB L OI(EN) - MRAY - B2 0fl &k o o RS2
202 O44| 6,880 6,880 0
01 SLHA LI 6,880 6,880 0
O SHIEXAE 6,880
O E322AE Xk 2= 20,0003 * 2% = 120 4,800
O BE22AE U= 4 80,0002 * 2% * 63 960
O SESIZAIY SFAHE Ast 80,000& * 2 * 73| 1,120
206 M= 4l 3,000 0 3,000
01 =4l 3,000 0 3,000
[0 SHIEXAE 3,000
O BE22AE =& 3,000,000& * 14 3,000
NS Mg 8,400 30,000 221,600
< 2,520
Al 5,880
301 LetEAF 8,400 30,000 A21,600
= 2,520
Al 5,880
01 A2 2 X563 8,400 30,000 A21,600
O SHIEXZAE 8,400
O NEEMEHAY 1,400,000& * 69 8,400
= 2,520
Al 5,880
22 A Stits 201 thal X 33,000 33,000 0
L= 10,000
Al 23,000
307 glztol A 33,000 33,000 0
= 10,000




SN EXR XD
BB o ALOHE

oFY o ATIEIHE
Sl CAIBIE T0 2 K2l BE CERE
= = = PSIE!
SN B S(B) - HRAY - BAS ol &2
Al 23,000
02 QIZtAAS X 33,000 33,000 0
[ SHIE ALY 33,000
O =58 22X stit2HI1 tHal XA 33,000,000 = 14 33,000
& 10,000
Al 23,000
FE H AR 100,000 80,000 20,000
& 30,000
Al 70,000
307 QI2H0| & 100,000 80,000 20,000
= 30,000
Al 70,000
05 QIZtRIE = 100,000 80,000 20,000
[ SHIE ALY 100,000
O &#49 &g AIEXA 100,000,000 * 14! 100,000
& 30,000
Al 70,000
SIS EARH AL 73,515 29,400 44,115
& 31,500
Al 42,015
307 2I2H0I M 73,515 29,400 44,115
& 31,500
Al 42,015
02 QIZtAAE X 73,515 29,400 44,115
O SHIEZTANY 73,515
O S0 A A 700,0008 » 21 * 63 * 83.35% 73,515
= 31,500
Al 42,015




S EXRXIDH
B DALY O UX
ol LRS! ©2 2 2Kl

@& (e &
= = = PSHE]
SN BB SR(B) - MRAY - BES 0l arey i RS2
NEASSH SAEALY 771,765 1,108,448 336,683
= 171,995
[ 179,932
Al 419,838
101 @124 H| 520,565 665,448 N 144,883
=2 137,596
& 143,946
Al 239,023
04 JI2HZ2 2 SE+ 520,565 665,448 A 144,883
O 3 NEXAE 520,565
O XNEESsH RelAg oY 38,608,550& * 12 463,303
= 122,460
< 128,112
Al 212,731
O 4t 4,771,830& * 128 57,262
= 15,136
= 15,834
Al 26,292
201 2| 35,200 52,000 A 16,800
01 At 2teld] 35,200 52,000 A 16,800
O 2DEA 35,200
O Let==H| 14,200
AAa 2 ER0l 2,000,000& * 23| 4,000
S22l 3,000,000& = 23] 6,000
MNRES 7 4,200,000 * 14 4,200
O gx= 21,000
- AHYXER(SHS) 1,000,000& * 21004 21,000




S EXRXIDH
Hu: LAOHE @ AX2IHE

el TAEE £2 @ AX2 AE (el &g
= = = PSHE]
SN BB SR(B) - MRAY - BES 0l arey i RS2
202 O44| 6,000 7,000 A 1,000
01 SLHA LI 6,000 7,000 A 1,000
O I NEXAE 6,000
O XNESSH LRelArgy = 20,0003 = 3% = 80 4,800
O XNEgitelds g2 /a8 &4 80,0002 * 3H * 53 1,200
206 M= 4l 210,000 384,000 A 174,000
= 34,399
& 35,986
Al 139,615
01 M=z 4l 210,000 384,000 A 174,000
O FNEXAE 210,000
O XNESsH LRelAY =2 10,000,000 * 21JH A 210,000
= 34,399
L= 35,986
Al 139,615
A2 HIHS AFROHEHl XI&AHY 60,000 60,000 0
= 48,000
& 3,600
Al 8,400
307 gIztol A 60,000 60,000 0
= 48,000
= 3,600
Al 8,400
02 QIZtA a2 60,000 60,000 0
O 3 NEXAE 60,000
O A2 EDI|Y S AFHOHZH] XIJ 60,000,000 * 14l 60,000
= 48,000
& 3,600




SN EXR XD
M CALOHE g

OIX
a

tel &
|

== =
el TASE B2 22X

am)

PSlE |

166,000

LRI (B0) - IS AE - i e
| 8,400
ABIRDIgE o 365,248 337,515 27,733
= 202,199
= 21,915
Al 51,134
307 DI2H0| & 365,248 337,515 27,733
= 202,199
= 21,915
Al 51,134
02 BI2E2 A 365,248 337,515 27,733
0 =298 365,248
O A3l 365,248,000 * 1 365,248
= 200,199
= 21,915
Al 51,134
Dlg 19 Ke & 90,000 230,000 A140,000
307 2120 & 90,000 210,000 120,000
02 BI2H 2 A 90,000 210,000 120,000
O 2xel 300,00080 * 502 * 62 90,000
FHAXYAME 2% 166,000 166,000 0
= 50,000
Al 116,000
307 012H0| & 166,000 166,000 0
= 50,000
Al 116,000
02 BIZHH A X 166,000 166,000 0




SN SRR D
I AN Q ARRIFE
Sl LASE S22 2Rt

& (e &d)
SN ZH . G(B) - HBEAY - BES 0ol arey o HIDS2
O HOXN2HE 2Z XA 166,000,000& * 14! 166,000
& 50,000
Al 116,000
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